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1.Options shown in green color and with ¥ icon are correct.
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Paper 1



Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and Clear
Response :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :
Is Section Default? :

Question Number : 1 Question Id : 51714412480 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to

replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

Which learning style is associated with understanding information through

patterns and relationships?

o) 7R 38 Dirare Frofiarse WP DAPTPTRR)) @go TS5t

exnaohodadnd?
Options :
Visual
1. ® CSE}%‘“S
Auditory
2. ® (55
Kinesthetic
85586
3.9
Logical
4% wﬁ&é

Question Number : 2 Question Id : 51714412481 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to

replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

517144165
1

Online
Mandatory
42

42

100

Yes

0

1
517144508
Yes

null



In a traditional lecture-based classroom, who primarily controls the flow of
information?
FORDTEDE GO0 el S5K8 KOS LEras [BaeeieR)) DADOBoHiDe HL?

Options :

Students

g)m“ﬁfjjﬁ}.]
1. % =

Peers
) % B>

Educational technology

IS 4
v Ao FoEdES

Teacher
4 esﬁeééatﬁo

Question Number : 3 Question Id : 51714412482 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

How do support materials contribute to effective teaching?
éacge:&n émucge_n ;.’aéag 555 e H5eEBTon?
Options :

By replacing the need for teacher involvement.
% S5 Hhoh eS80 3,‘5_55 Sc50es Ape

By providing a distraction-free environment.
. éiﬁqrog)i‘éoéﬁ} arerddeso EOR0LDE trgoe

2.
By facilitating varied learning experiences.

3 @ D3 egrgd eidgraroih hegiddo Sc5ne Aol
By automating assessment and grading.

A HB0), MG 2xobo @redo Scsnes AN e

Question Number : 4 Question Id : 51714412483 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The term "elective courses” in a choice-based education system refers to
courses that:

2JODE esgreld @U@éég@éﬁ amﬁé EBESJJED oD S O 5563‘:]@
Options :

Are mandatory for all students
0% ﬂ@“éﬁ%ﬂéj ENLISS]

1. %
Are chosen by teachers for students
Deeghe BB Fsodn doDE T

2. % p: -
Students can choose based on their preferences
Dergthen aed ([@Rgrigde ooe dows Py o))

- 2% > EA
Are only related to physical education and sports
FBBE D, Bod SrED HonoHoIH

4. %

Question Number : 5 Question Id : 51714412484 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which of the following is an example of ICT-based |learning tool?
& BIHS A6 HB ICT-aprds earnd HBESSD

Options :

Whiteboard and marker
@géﬁﬁﬁg visle RV eYle))

Chalk and blackboard
D8, 89 f)’siﬁgj

Printed textbook
SeBoDS aroegod HREED



Educational software on a tablet

¢ge5 2 Doy DSH R0
4, % Gl =

Question Number : 6 Question Id : 51714412485 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Why is "replicable" an important feature of research?
(28875 @00 Jothider 50855 SogeEsEn

Options :

It allows researchers to keep their methods secret.
0 H0808%en S5 E'Jgéaﬂsﬁj BaPrxomr 60dtrd8 &Hamraieéod

It ensures that research findings are applicable only to specific cases.
E°). @’33§§ Bhed? drEd 588 ittt HBoBkky SPH0k

2.9
It allows other researchers to repeat the study to verify the results.
@8 a88 HB&8EHen 8 HDaro HBSrHOD egahido &6A

- Josmeroden EDyn0b
It prevents other researchers from using similar methodologies.
=288 58885500 wenHod éiéé’a}a}ﬁn Pvidat=yeln ?\?155@‘5)}_905

4, ®

Question Number : 7 Question Id : 51714412486 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
Post-positivist researchers are more likely to:
@ﬁ% @ﬁﬁéﬁn‘ﬁ% 58555%en &) Dogradsore
Options :

Completely disregard quantitative data

- Frbre HberdE Saroaed)) APEe Bkt



Focus solely on subjective experiences

s&)3dh edgraroy K e
2. % -

Acknowledge their own biases and limitations in research
56885588 S5 08 DEarered, H6ddHed 8D

3.¢
Reject the need for peer review and validation
&Barh ‘égbé, cﬁaﬁéfﬁwm ©DITR) BEHBIE
4, %

Question Number : 8 Question Id : 51714412487 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The APA referencing style is primarily used in which academic disciplines?
APA 8588010 3D rgrorsmort & dueghonod FKos’ &HGrATRS

Options :

Social sciences

- ~POGDE Folen

Natural sciences

5 w  RarE Fo|Jeen

Engineering

3 ¥ mo02DB0in

Medicine

Question Number : 9 Question Id : 51714412488 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



How can ICT assist in the literature review process during research?
£8855:56° (o5 DEES ICT ey H:EB0S Keth?

Options :

By providing opportunities for plagiarism
& (Ko TEgndH edsearen Oy

1. ®
By allowing researchers to skip the literature review phase
% HBS e Kol égbg S8 mﬂéﬁéa@,, Sasne e
2. %
By offering access to online databases and academic journals
., & ©i8S S0l Fdoren, DogHBEedH (H3Fo EDoDe Troe
3.
By replacing the need for citations and references
odBparen. (HarBen, @DHTRY CrfaFnlovantow e
4, %

Question Number : 10 Question Id : 51714412489 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What is the function of an "Appendix" section in a thesis?
58800 aﬂgﬁjmfﬁﬁ "©20885) " Darissh DY 8o

Options :

To introduce the main research question

. 58888 SoggREHD HBLcho Bc50es
1.

To provide additional details that support the main text
- snggardsiors Efnﬁée‘fmriv ©idd) Hdored sl

To summarize the research findings

5888 Pt Holfsrorr Jcine ALNeL
3. %



To present the author's personal opinions

L x Bons 8RS grddeih aint oxoe

Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :
Is Section Default? :

2
517144509
No

null

Question Id : 51714412490 Question Type : COMPREHENSION Sub Question Shuffling Allowed : No Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Question Numbers : (11 to 15)
Question Label : Comprehension



Note: Answer the questions 11-15 by reading the following passage:

115008 8ot mxabd Sirardo egrdore Q. 11&08 Q. 15 (Do Jirgrareen
larahod.

The Castle of Edinburgh is free (as appears to be the case with all garrisoned places in
Great Britain) to the entrance of any peaceable person. So we went in, and found a
large space enclosed within the walls, and dwellings for officers, and accommodation
for soldiers, who were being drilled, or loitering about; and as the hill still ascends within
the wall of the castle, we climbed to the summit, and there found an old soldier whom
we engaged to be our guide. He showed us Mons Meg, a great old cannon, broken at
the breech, but still aimed threateningly from the highest ramparts; and then he admitted
us into an old chapel, said to have been built by a Queen of Scotland, the sister of
Harold, King of England, and occupying the very highest part of the hill. It is the smallest

place of worship | ever saw, but of venerable architecture, and of very solid construction.

385208 8568 rodamdorr ¢od » HBBwe (HD¥o eddo ([T BOSED ey
588 HaTod ety )sad Do 908 3B, i Sde a8 Y Qerd)) Baso
©H5He Dararod, pIHe HH8I Srrdn, GS e &F) ot DY), w¥iE
8BIHHT) HOE0ED PIHD) Irarsm. B Y %o &) 288 ol Spdo 8
J57Em wHE af PR PIDED hdn 0D o800 &r ST DSDEoWHETED
odH Srd Irq) Db, a8 ) ard HBoAY Srdometh. o s Eﬁﬁé DBADE0N0H
S aéojﬁé Q8% (rerore {08 BBB0D SR God. B oS B8y s
@G HobBoE’E BhkhBgd. BV morol e Swoed A, FErol oo
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Sub questions

Question Number : 11 Question Id : 51714412491 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Thereis a inside the boundary wall of the castle
8% (5576 RPE &f¥e ok S08.

Options :



low hill

| % D) ot
steep hill

) & B85 BPod
boulder

 potiurom

3. %
rocky terrain
oeey giomegeiio

4, %

Question Number : 12 Question Id : 51714412492 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

There is a intimidating from over the lofty bulwark.
Q85 (arseore DS 08 2 BOHGHFEp Sod
Options :
cannon
L DB/

platoon of soldiers’
2% epodio

group of officers’
;. x @B ayoio

group of guards’

g x PR Skrdro

Question Number : 13 Question Id : 51714412493 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



The old chapel is situated on the of the hill.

vt @ag@ Shobo B &ob

Options :

foot
L% ATV

ridge
5 % 00N

summit

BpbBo 8
3. ¢

surroundings

4% HB5oeedt

Question Number : 14 Question Id : 51714412494 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The author appreciates the chapel's
BSome @ﬂgmﬂ shobo ahog) R SN

Options :

History
L S0

location

00
2. % @

structural design
ﬁcﬂésa ErH8ensd
"/ Q@

ambience
SPEP B0

Question Number : 15 Question Id : 51714412495 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to

replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

The author visited the castle, as a

ESowd, o ek a8 ﬁotﬂ@dﬁoaﬂ&

Options :

tourist

L ﬁm&@é&m

historian
) = DO|Sseththre

soldier
BT

archaeologist

4 % Hovdd) KBS

Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :
Is Section Default? :

3
517144510
Yes

null

Question Number : 16 Question Id : 51714412496 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to

replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

Being an communicator helps in resolving conflicts and

misunderstandings in communication.

Eﬂﬂvogméj éﬂ‘é@ﬁoéiﬁo@ﬁ HPcHHBID0B.
Options :

empathetic

L rndrane

inconsiderate
23805

2. %

émég}éﬁ}gﬁ“ &oéo Hed émgﬁéﬁﬁéﬁ DFmren HHB5



observant

) K&Dod
3. %
inconsistent
@t
4. ® TS

Question Number : 17 Question Id : 51714412497 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Providing clear instructions and guidance for activities in a classroom is a

strategy for i communication
SB18 KHE® seisBerareoH R)alehd Hoediden pbain SrditEao wobodto
O30 ééﬁfﬂgﬁﬁéﬁﬁ &P a¥ HG3.
Options :
controlled

| & QohoBoladd

procedural
. APPRHBD

unintended
3 % N TGRAL
content
SR00 HBemd
4. % e

Question Number : 18 Question Id : 51714412498 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Being is a key to establish a genuine relationship with a
person whose linguistic and cultural background is different
grar S0Basn %voﬁggéﬁé ﬁéfﬁéo Hdore ey é&%&f’ SEHH Somorrdy

BB 5608 Ko o sedio deso

Options :




close- minded
Hodde é;?é*’mﬂj

1. %
open- minded
DF0 XJE et
2.9
self- reflexive
fo&di} Slepnlehy
3. %
self- respectful
ﬁ)&dﬁ) ietle]
4.

Question Number : 19 Question Id : 51714412499 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

In order to have excellent decision making skills, a person needs to have
intelligence.

©tinddhd Aabo B0%3 Jevergein EOA somrewol, 2.8 2588
HEDH BODBeren SowD.

Options :

social
FPHras

psychological
VRN

spiritual

@m@@@é

emotional

2,30553‘55

4.



Question Number : 20 Question Id : 51714412500 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Radio and television are the examples of media
B&Ge 0B BOD=S S gEmes) GTRseSen
Options :
electronic

| v SEpE

print
2 % Sl

i social
o

traditional
20|DTPAHE

Question Number : 21 Question Id : 51714412501 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

8.4,4,6,12, 30,
Options :
75

1. %

95

90

105



Question Number : 22 Question Id : 51714412502 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
EUILN, DWFPI, __ CXEQH, GSKJP

Options :

FTJKO
1. ¢

FUILM
2. %

EULIM
3. %

ETJKO
4, %

Question Number : 23 Question Id : 51714412503 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
In a certain code language if the word FRAME = 48 and HURDLE =74 then
FIGMENT= ? )
2.8 DO §6 2065 FRAME = 48 20050 HURDLE =74 H350 @@oan®
FIGMENT= ?

Options :
74
1. %
. 89
2. %
91
3. %
81
4.

Question Number : 24 Question Id : 51714412504 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Shiva starts a business with an investment of Rs. 1,00,000. Pradeep joins him
after 3 months with an investment of Rs. 1,50,000. is the Shiva's share
in the total first year profit which was Rs. 51,000.

265 3.1,00,000 DEPDAS eSO [BrG0E)0Tr. (DAD 3 Tered HTP 5eb
5. 1,50,000 © 2enad& eSS Do . _ Inded 05180

Fndo €506 Fos e 5. 51,000 20 woe® 85 swér

Options :
21,000
1. %
5 % 20,000
27,000
3.
24,000
4. ¢

Question Number : 25 Question Id : 51714412505 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

A trader loses 20% when he sells a TV set for Rs. 12,000. The percentage he will
gain by selling it for Rs. 20,000 is

28 °5ard €3 RE ¢65°.12,000.8 e9020569 )60 20% SsdErddd. .
20,000 8 9502650 T ST° @650 SO0 erES FeH0. _

Options :

15%
1.

33.33%
2.¢

16.66%



25%

Question Number : 26 Question Id : 51714412506 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
Statements:
No village is a city.
All cities are states.
BSETATH WS
&) DBEFED SHG0 S,
@) TP T re.
Conclusions:

l. Some villages are cities.
. Some cities are states.

ST eN:
. §'a)) [(Pren iforen.
. £ SHiTren TP lalken

Options :

| follow
[l follows

Both | & Il follows.

Neither | nor Il follows

Question Number : 27 Question Id : 51714412507 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



In a class of 90 students, 60 opted Maths, 50 opted Science and 20 opted both.
How many students opted only Science?

90 508 DTeeNN) SEHBE 60 HOO S5, 50 SH0A S, 20
N0 BOAOE3D DOTNEIT®) . DOBDOE DITLEDEN T 0 5750
) OTNBT) B0?

Options :

20
1. %

30
2.

40
3. %

50
4, %

Question Number : 28 Question Id : 51714412508 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
How is my son’s daughter’s sibling's mother related to my wife's only son?
2 T et 20y D8, 7 ez 2,8 S) S8y
BPOGI0 DNE3?

Options :
Sister

1. %

) % Sister-in-law
Wife

3. ¢
Aunt

4. %

Question Number : 29 Question Id : 51714412509 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which one of the following is signified by Udaharana of Anumana (Inference) in
Indian Logic?
& 180H7¢3S 2rBed0d 5653065 eisrd (DT Ge) TBwE) ST e

SrDoHBs DO?
Options :

Statement of reason
% s°880 AT (BN

Proposition to be proved
DHHoSHOND HSarSD

2. ®

Conclusion proved

Swhod Arhodalod
3. %

Universal proposition along with an instance
4 STPSTERS° artn T BE (DBaSS

Question Number : 30 Question Id : 51714412510 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Consider the following statements and choose the right option
EMHS VE 0E O HOHNSE N0 HOAH OB 3D
DOTHT A

a) Pratyaksha based on the perception of an object and Shruti based on
hearing.
2,8 290 CRNE), MTEA0 TGO (Hek5s, DAEE estrSorr (Hes.
b) According to the Naiyayikas, inference is of two kinds, namely,

Svarthanumana (Inference for one self) and Pararthanumana (Inference
for the sake of others).

O EONEVE |05S0, €33 DO 05D, @) & ﬁlﬁgﬁfﬁ@cﬁ (2.8
2368250 €2a7°) OO FTEHHT (VSHO THO 0TIT).

Options :



Only (a)
(a) S0

Only (b)

(b) 5753
2. %

Both (a) and (b)

(@) s 00 (b) DO
3.¢

Neither (a) nor (b)

. @ S (b)DOGT 52D

4.

Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :
Is Section Default? :

4
517144511
No

null

Question Id : 51714412511 Question Type : COMPREHENSION Sub Question Shuffling Allowed : No Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A
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Note: Answer the questions Q. 31 to Q. 35 on the basis of the information given below.
He8: 180 295088 Addrerdo esrdomr Q. 31 c0od Q. 35 (d) 0%
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The following pie charts show the results of a board examination. Total number
of students appeared for the exam is 77.000

Bod D ©rfen S HOE HOTe rEron. HOE L FBBS o
Deder How; 77,000

Percentage dis ion of marks

= Failed (<35) = Third cla -50)
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Sub questions
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How many students failed in Mathematics in the board exam?
S H85 S KBS0 D06 HOA Drrsden Do eoarstin?

Options :



46200

15400
2.¢

5 % 11550

4, % 5775
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If 10% of the students who appeared, got 100% of the marks in Mathematics,
then the number of students failed in Mathematics is how much percentage
more than the number of students who got 100% of marks in the same subject?
5523805 DTetHES 10% H0E HE3e506T 100% 570500 B IF0D), e
HBIES’ 100% SE0ze0 SV Deesher Hows 50D KedsoeS” pond
0NN DTS DOPE )OS T°H0 IBVL)?

Options :

50%
1. #®

100%

150%
3. %

4 % 200%
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If 10% of the students who failed in science were made to pass by giving 5
grace marks, 40% of them secure more than 85% of the total marks in the five
subjects as a result of these grace marks. The new number of students who got
more than 85% of the marks is

DS DONS o O 10% H0O Jersdden 5 (TR SISy en ad)
SaHeTher T, TOS 40% 206 & (FD Sty HOSOM HEH
JBEPS TS0 85% L0T DY S0 ED OO, 85% E0T) D0y
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Options :

L 4312

3214

1342

2314
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In the next year, the total number of students appearing for the exam increased
by 10% and the number of students who failed in social studies is what
percentage of the total students who appeared for the exam.

S0HE3 D055 1806, HBE B SFaEah; o Jorsdde Howg 10%
DOR0E SO0 FAS AAHS DANS @ond Do dows HOEH
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% 8 1/3 %

9 1/11%
o
3 % 10%

4 % 111/9 %
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The number of students who failed in Mathematics in terms of percentage is
50 DB KHede5063 0NS NS DO Hows
Options :
120
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100

2. %

L % 60
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What is the full form of SSD?
e N ) LRV y YY)

Options :
Smart State Display

Smart State Drive

2. %

Solid State Display

Solid State Drive
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An unsolicited email message sent to many recipients atonce is ........
©oirdE ® donen TG Trer Hob8 a8 Hohohnh

Options :

Virus

Attack
2. %

S
- pam

Memes
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Which of the following is a digital initiative for Robotics Qutreach Project.
6555&@3, 76565 @vé% &2 BIDBG a8 &8den J55

Options :

e-Vidwan
- DR

| % =] EI"&
e-Yantra

, @ B aholss
e-Kalpa
H- ey

3. % =

None of the above

239 5=
4. %
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Firewalls are used to protect a communication network system against ........
2.8 ol Je5B e BIDdS ol BEohe Dbarengih edrAodHt

Options :

Virus attacks
J6D orthen

1. %
Unauthorized attacks
) @NHs8 wethen
Data driven attacks
@ esebéd etsen
3. %
Fire-attacks
26 orthen
4, %
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URL stands for
ghe. @96, )5 edre

Options :
Universal Resource Location

Universal Response Locator

Unified Response Location



4 « Uniform Resource Locator
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Designing self-sustaining systems is a viable path towards long-term progress.
ég}sﬂ@ (S8, Jgabo JesE He HPHeorh EZH Basne

Options :

Irreversible and flexible
| x @ﬁjﬂ}%“%@ﬁj&, ERVE A

Reversible and flexible
(858" 0, g

Reversible and inflexible
3 % (BSGKeb, @308 0t

Immutable and unchangeable
SrENTAB. Hrt)BcHB

4. %
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Which of the following agents is responsible for turning the Taj Mahal yellow?
seEnseenid DD Sy SrByy H:ns)
Options :
Sulphur

| x K}@JE

Chlorine
, % 865



Sulphur dioxide
Senb @ ©w8)&
3.¢

Nitrogen dioxide
=S g )6

4. %
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Why wind energy is considered a conventional source of energy?
md ¥80 dothded Sol@rmrahE 48 Sthre grdoRtth?

Options :

as it can rotate a windmill

@b rd dholerd)) S0 Heth
1. ®

as it can help in lifting water
©8 DB 28 HoHres
2. %

as it is readily available and used for a long time
©b Bot3 BEHDH. Hsreo s5BrRoBHLND.

As it is produced due to uneven heating of the Earth

L% 28 eddmdore ﬁéé}é&) DOH @b ﬁé;ﬂ TaVY
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International Day of Natural Disaster Reduction is celebrated on...........
805 DB SRoD @oétr&gécﬁj BHED BtHE TE% e

Options :



June 15

a~n 156
1. %
March 5
- 5’330613 5
October 13
3 ¢ ﬁ_—ﬁgﬁmiﬂj 13
September 13
Haoat 13
4. & i
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In which year the National Environment Protection Act was passed in India?
508056 erfoh rerdtes B8 5&;&& ©:00S00N Do Bo?

Options :

1974

Question Number : 46 Question Id : 51714412527 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which is the first Open University in India?
B0&CTE® FnsB FBYBE DY DEgOcHED
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Andhra Pradesh Open University
e30SHBS FBYBE DD SDHED

Yashwantrac Chavan Maharashtra Open University
dhHHes ool SDHS éﬁ.}ﬂoﬂlé PT(BE DHRDogechHdn

2. %

Indira Gandhi National Open University
N 20800 o &% PSS DB DTgedHn

Nalanda Open University

L doome FEYSE HEDoohEn
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What is the full form of ABC as per the NEP 20207
NEP 2020 [giz8ein ABC @&

Options :

. Academic Basic Certificate.
1.

Annual Basic Certificate.
2. ®

Annual Bank of Credits
3. %

Academic Bank of Credits
4,
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The purpose of value education is best served by focusing on...
& (Bob D §T A3 Dend DSy G 6T I I5HEHob

Options :

Cultural practices prevailing in the society.
Horesing? &) FopsE eltmen

1. %
Norms of conduct laid down by a social group
5 % &8 Hires DIEEFEN 2HH VEHE DAHEnH?
Concern for human values.
- S8 Denderd eo&2EH
Religious,moral practices and instructions
e 50, B e358eren, estizoen
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The best way for providing value education is through?
Dend DY ©oBoHeE HHAD DL

Options :

Discussions on scriptural texts
% lE~é Hogrop S8

Lectures/discourses on values
) % DO GNP, [HRorren

Seminars / symposia on values
DenNe 2 DN/ HB%E‘_D

Mentoring / reflective sessions on values

4 Dendo D & B¥/ 1H8Doa SEraaen
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SAMVAY ?‘.g;.v_én BEaw
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1. %
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What layer in Earth's atmosphere reflects radio waves. enabling long-distance
communication?

Options :

L% Troposphere

Tonosphere
2.

Mesosphere
3. %

Exosphere
4.%

Question Number : 52 Question Id : 51714412533 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Within marine ecosystems. what exhibats high biodiversity. often earning 1t the nickname
"rainforests of the sea"?

Options :
Coral Reefs
1.

Mangroves

Abyssal Plains

Kelp Forests
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In a forest ecosystem.which species holds the role of a keystone species, significantly
impacting the diversity and abundance of other community members?

Options :



Squirrel

~ Robin
2. %
 Beaver
3. %
4 Wolf
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The principle states that energy cannot be created or destroyed in an i1solated system. but it
can only change forms or be transferred between the system and its surroundings?

Options :

Zero Law of Thermodynamics

l.
First Law of Thermodynamics
2.¢
Second Law of Thermodynamies
3. %
Third Law of Thermodynamics
4, %
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Meteorological parameters that 1s typically measured in millimeters or inches?
Options :

Temperature



Wind Veloeity

2. ¢

Precipitation
3.¢

Humidity
4, %
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Wind roses are graphical representations of:

Options :

v Wind speed and direction distribution
1.

Wind direction only

2. %

Wind speed only
3. %

Temperature and pressure distribution
4.%
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What is the term for the fraction of solar energy that is reflected directly back to space by
Earth's surface and atmosphere?

Options :

Albedo
1.

Absorptivity



Transmissivity

Reflectivity
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What 1s the process in which a gas changes directly to a solid without passing through the
liquid state?

Options :

Condensation
1. #

Deposition
2.

Sublimation
3. &

Precipitation
4.%
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In the context of sustainable development. what does the "triple bottom line" approach refer

4

1o

Options :

Focusing on economic growth, environmental protection, and political stability
1. %

Prioritizing social welfare, industrial growth and technological advancement
2. %



Balancing economic. social and environmental considerations
3. ¢

Maximizing profits. mimimizing costs and reducing resource consumption
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The Amazon Ramforest 1s primarily located in which biogeographic province?
Options :

Afrotropical Province

1. %

Australasian Province
2. %

Indo-Malayan Province
4 Neotropical Province
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Technology inveolved in capturing. storing, analyzing. and managing spatial data for
better decision-making?

Options :

Remote Sensing

GPS Tracking
2. %

3 Geographic Information System



Telemetry
4. %
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The process of converting satellite 1mages into usable mformation by applying various
algorithms 1s known as

Options :

Remote Sensing

Data Mining

Digital Image Processing
3.

Image Interpretation
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In climate change assessment. which remote sensing technique 1s often used to monitor
the extent of polar ice melting?

Options :

| % Lidar

Svynthetic Aperture Radar

. Hyper Spectral Imaging
3.

Radiometric Calibration
4, %
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What 1s the primary objective of environmental education?

Options :

Raising awareness and fostering responsible behavior towards the environment
1. ¢

Enhancing scientific research
2. %

Promoting environmental regulations
3. %

Training individuals for careers in environmental management
4. %
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The term refers to the process of recognizing. understanding. and addressing
environmental challenges and their consequences?

Options :

Environmental justice

1. %

Environmental activism
2. %

Environmental literacy
3.9

Environmental mitigation
4. %
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Correct Marks : 2 Wrong Marks : 0
What principle underlies stoichiometry?
Options :

| % Law of Conservation of Energy

Law of Multiple Proportions

3 % Law of Definite Proportions

4 « Law of Conservation of Mass
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Henry's law describes the relationship between the solubility of a gas in a liquid and ----
Options :

| % Temperature of the gas
,  Pressure of the gas

3 % Volume of the gas

4% Concentration of the gas
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Radioisotopes are unstable due to an excess of:
Options :

Neutrons
1. &

Electrons



3 % Protons

Photons

Question Number : 69 Question Id : 51714412550 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
What term refers to tiny solid or liquid particles suspended in the atmosphere?

Options :

| % Radicals

5 % Ions
Aerosol

3 @ erosols

4 % Isotopes
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The reaction between nitrogen dioxide (NO,) and hydroxyl radicals { OH™) leads to the
formation of which compound that plays a significant role in atmospheric chemistry?

Options :
Nitric oxide (NO)
1. ¢

Ozone (O3)

Sulfur dioxide (SO;)

Carbon monoxide (CO)
4, #
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In the ozone-oxygen cycle. what 1s the role of ozone m absorbing ultraviolet (UV)
radiation?

Options :

Ozone absorbs UV radiation and releases it as visible light.

1. #
Ozone absorbs UV radiation and releases it as infrared radiation.
2. ¥
« Ozone absorbs UV radiation and converts 1t into chemical energy.
3.
4% Ozone absorbs UV radiation and heats the surrounding air.
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A key reaction m the formation of acid rain?

Options :

Nitric oxide (NO) reacting with ozone (O3)

Methane (CHj) reacting with oxygen (O2)

Carbon monoxide (CO) reacting with nitrogen dioxide (NO;)
3. %

. Sulfur dioxide (SO7) reacting with water vapor (H2O)
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The Maillard reaction. which contributes to the browning of food. is an example of what
type of chemical reaction?

Options :



Thermochemical reaction

1.

Endothermic reaction
2. ®

Photochemical reaction
3. %

Non-reversible reaction
4. %
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Water's high dielectric constant 15 due to:
Options :

Its low heat capacity

5 Its polarity

Its nonpolar nature

Its low surface tension
4, %
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What 1s the mam difference between Biochemical Oxygen Demand (BOD) and Chemical
Oxygen Demand (COD) tests?

Options :

L BOD measures organic substances while COD measures inorganic substances.



BOD measures morganic substances while COD measures organic substances.

BOD measures the dissolved oxygen level, while COD measures the chemical

3 % potential of oxygen.

BOD measures oxygen consumption by microorganisms. while COD measures.

dissolved oxygen levels.
4, %
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In the pH scale, what does a pH value of 3 indicate?
Options :

Weakly basic solution

1. %

5 ® Neutral solution
Strongly acidic solution
Strongly basic solution

4. %
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In a water body. if the redox potential (Eh) becomes highly positive. what process 1s
likely occurring?
Options :

. Anaerobic respiration

Oxidation of organic matter
2.



_ Aerobic respiration
3. %

4 % Reduction of inorganic compounds
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The soil horizons that contains the highest concentration of organic matter and humus?
Options :
Lv © Horizon

A Homzon

; % B Horizon

4 % C Horizon
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What serves as a carbon dioxide (CO;) sink in the atmosphere?

Options :

L% Combustion of fossil fuels

) % Deforestation

3 Oceans

4% Volcanic eruptions
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A neurological disorder. Minamata disease, caused through seafood contamination is

Options :

L% Lead (Pb)

- Mercury (Hg)
3 % Cadmium (Cd)
4% Chromium (Cr)
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Which category of air pollutants is characterized by being persistent. bioaccumulative
and capable of long-range transport through air and water?

Options :

Greenhouse gases

Particulate matter

Volatile organic compounds (VOC)

Persistent organic pollutants (POP)
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Polyeyelic aromatic hydrocarbons (PAHs) commonly found i air pollution are
primarily formed by the incomplete combustion of:

Options :



Sulfur-containing fuels

Greenhouse gases

2.

WVolatile organic compounds (VOC)
3. %

Biomass and fossil fuels
4. &
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Nuclear Magnetic Resonance (NMR) spectroscopy. what property of atomic nuclei is
utilized for obtaining structural mmformation about molecules?

Options :

Electromagnetic radiation absorption
1. %

5 ® Mass spectroscopy

v Magnetic resonance

F 1 NOrescence
4, %
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In the Paper Chromatography. the Rf value of a compound 1s calculated as the ratio of
the distance traveled by the compound to the distance traveled by the:

Options :

L& Solvent front



Sample application spot

Elution front

Stationary phase
4. %

Question Number : 85 Question Id : 51714412566 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

A data set with extreme outliers. which measure of central tendency is the most robust?

Options :

| % Mean
Median
2.
Mode
3. %

Standard deviation
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What is the relationship between the standard dewviation of the population and the
standard error of the sample mean?

Options :
Standard error 1s always larger than standard deviation

1. %

Standard error 1s always smaller than standard deviation
2. ¥

The standard deviation and standard error are identical



L % There 1s no dependable relationship between them
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In a symmetric distribution. which measure of skewness will be close to zero?
Options :

" Karl Pearson's Coefficient of Skevwness
1. %

5 % Bowley's Coetficient of Skewness

Median Skewness

Mean Skewness
4, %
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In a bag, there are 3 red balls. 5 green balls, and 4 blue balls. If 2 balls are drawn
without replacement. what 1s the probability of drawing 2 balls of different colors?

Options :

L

| x 5/33

, w1033
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In a binomuial distribution. what 1s the formula for the variance?

Options :

| o mp(-p)
L« na(l-q)
L » TP0-P)

wq(1 - q)
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The t-test 1s used to compare means between which of the following situations?

Options :

Two paired samples

Two independent samples
2.

3 % One categorical variable and one continuous variable

One mdependent sample and one paired sample
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In ANOVA. what does a high F-value suggest?
Options :

Homogeneity of variances
1. *



No significant differences among group means

Significant differences among group means

Symmetry of the data
4, %
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In hypothesis testing, the null hypothesis is typically denoted by:

Options :

L& HO
Hl1
2. %
P-value
a (alpha)
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Ecological interactions such as predation, competition, and mumalism are best
classified as examples of:

Options :

Abiotic factors
1. #

Biotic factors
2.



Climatic factors

Cultural factors
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Allopatric speciation occurs due to:
Options :

Geographic 1solation
1@ SO

Sympatric isolation

2.9

Genetic dnft
3, %

Gene flow
4.%
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Biotic components of ecosystems mclude:

Options :

Water and minerals
1. %

Rocks and so1l
2. %

Producers. consumers. and ElfCDlllpGSE‘I"'.-



Temperature and sunlight

Question Number : 96 Question Id : 51714412577 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
Primary succession occurs in areas:
Options :

That have experienced a recent disturbance

With established soil and vegetation

With well-adapted organisms
3. %

Where no previous community exists
4.
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Ecosystems can be classified based on:

Options :

Only abiotic factors

Only biotic factors
Both abiotic and biotic factors

3.¢

None of the above
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Which forest ecosystem 1s found in areas with long. cold winters and coniferous trees?
Options :

Tropical rainforest

1. %
Temperate deciduous forest
2. %
Boreal forest
3. ¢
Mangrove forest
4, ®
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Estuarine ecosystems are known for their unique:
Options :
Desert vegetation

1. %

Mangrove forests

Mountainous terrain

Polar ice caps
4, %
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The biome dominated by coniferous trees and known for its cold winters 1s the:

Options :

Tundra
1. %
Savanna
2. %
Taiga
3%
Tropical rain forest
4, %

Question Number : 101 Question Id : 51714412582 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
'k' species are known for their:
Options :

L% High intrinsic growth rates

Adaptation to unstable environments
2. %

Small body size and short life spans
3. %

Slow population growth and stable environments
4.
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In a trophic cascade the removal of a keystone species can lead to:

Options :



Increased competition among predators

1. %
Overpopulation of herbivores
2. %
Disruption of the entire food chain
3.¢¥
Improved ecosystem stability
4. %
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Allelopathy is a type of interaction where:
Options :

Drganismi. compete for resources

1. %
One species benefits while the other is harmed
3 % One species benefits while the other is unaffected
Organisms exchange resources for mutual benetit
4. %
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Biodiversity hotspots are defined based on:
Options :

L% Total species richness



Endemism and threat status
2.9

Ecosystem productivity

Latitude and longitude coordinates
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The Shannon-Wiener index considers:
Options :

Only species richness

Only genetic diversity

Only species evenness

. Both species richness and evenness
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Biopiracy refers to:

Options :
~ The legal sharing of genetic resources
1. #
Unauthorized commercial exploitation of biological resources
2.¢

Conservation efforts for endangered species



4 % Restoration of degraded ecosystems
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An organism categorized as "endangered"” is:

Options :
| % Very common in its habitat

In a stable and healthy population
2. %

At high risk of becoming extinet
3.¢

Experiencing overpopulation
4.%
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The Red Panda (Ailurus fulgens) 1s listed as:

Options :
L Endangered
) % Rare
Threatened
3. %
Extinct
4.%
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The study of the harmful effects of chemicals on living organisms 1s known as:
Options :

| % Epidemiology

Toxicology
2.¢

Pharmacology

Biotechnology
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Which of the following laws describes the movement of groundwater through porous
media?

Options :

Newton's law
1. #

Boyle's law

Darey's law
3.8

Kepler's law
4, %
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Retrofitting buildings involves incorporating flexible designs to withstand:

Options :
L& Earthquakes
 Hurricanes

2.

Floods
3. %

Tornadoes
4.%
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The Therapeutic Index (TT) is calculated as the ratio of:
Options :

LD50 to ED50
1. ¢

LD50 to TD50

2. %

ED50 to LD50
3. %
4 % TD50 to ED50
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What 1s a common vector for the transmission of West Nile virus?

Options :



Sandflies

1. %
Fleas
2. %
~ Ticks
3. %
Mosquitoes
4.9
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Phytoremediation refers to the use of:
Options :

Microbes for bioremediation

1. %
_ Insitu techniques for remediation
2.
Plants to remove or contam pollutants
3.¢
Synthetic chemicals for pollution control
4. %
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Lichen species are often used as bioindicators because they are sensitive to changes n:
Options :

Atmospheric pressure
1. %



Temperature only

2.

Air quality and pollution levels
3.¢¥

Soil moisture content
4.%
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The process of primary geochemiecal differentiation led to the formation of Earth's
distinct layers. including the:

Options :

Crust. mantle and core
1. ¢

Lithosphere. asthenosphere and mesosphere

2.

Inner crust. outer mantle and inner core
3. %
4 % Hydrosphere. lithosphere and atmosphere
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The movement of lithospheric plates on the Earth's surface. causmng earthquakes.
volcanic activity, and the creation of various landforms. 1s referred to as:

Options :

Climatie fluctuations

Bioaccumulation
2. %



Plate tectonics

Erosion
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Soil forming minerals such as clay minerals are primarily derived from the weathering
of:
Options :

Sedimentary rocks

Igneous rocks
2. ¥

Metastatic rocks

Fossil fuels
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The primary goal of the 'Green India' mission 1s:

Options :

Industrial growth
1. #

Urban development
2. %

Enhancing forest cover
3.¢



Reducing water usage
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The National Mission on Sustainable Agriculture aims to ensure:

Options :

Food security
1. ¢

Monoculture farming
2. %

Industrial erowth
3. % -

Deforestation
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The Tehri Dam. located 1n which Indian state, has faced criticism for its environmental
and social impacts?

Options :

| % Rajasthan
Madhya Pradesh
2. %
Uttarakhand
3.
Odisha
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Hydro-power projects in which region of India are facing opposition due to concerns
over their impact on local ecology. biodiversity and indigenous communities?

Options :

Western Ghats

1. #
Indo-Gangetic Plain
2. %
Central Highlands
v Jammu & Kashmir. Himachal Pradesh and North-Eastern States
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The Narmada Bachao Andolan (NBA) 1s associated with protests against:
Options :

Pollution in major Indian rivers
1. #

Displacement due to large dams on the Narmada River
2.

~ Water scarcity in northern India
3. %

Illegal sand mining in coastal areas
4, %
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What is the primary objective of rainwater harvesting?
Options :

Reducing river flow

1. %
Preventing groundwater depletion
Capturing rainwater for reuse and recharge
3.¢¥
. Enhancing surface water pollution
4.

: No Control Enable

: Yes Time interval to
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Ramsar sites in India are primarily designated for the conservation of:

Options :

|« Wetlands

Deserts

3 % Grasslands

4 % Forests
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The restoration of lakes often involves addressing the problem of:

Options :



Low water levels

Eutrophication and pollution

2.
Excessive groundwater recharge
3. %
Soil erosion
4. %
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What is the key focus of the National River Conservation Plan (NRCP) known as

"Namami Gange"?

Options :

Desert reclamation

5 % Coastal erosion control

Cleaning and rejuvenating the Ganges River
3.¢

Promoting water tourism
4, %
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The Appiko movement similar to Chipko aimed to protect forests in which region of
India?

Options :

Western Ghats
1. v



Eastern Himalayas

Thar Desert
3. %

Eastern Ghats
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The Gandhamardhan movement is related to the conservation of forests in which state?

Options :

1. % Karnataka
Odisha

2.9

; % Maharashtra
Madhya Pradesh

Question Number : 130 Question Id : 51714412611 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
The GOI-UNDP Sea Turtle project aims to:

Options :

Promote turtle hunting
1. %

Study turtle genetics
2. %

Conserve sea turtle populations and habitats
3.¢¥



Develop sea turtle farming techniques
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What 1s the primary purpose of carbon sequestration?
Options :

Generating electricity from carbon emissions

1. %
Capturing and storing carbon to mitigate climate change
2.
- Converting carbon dioxide into usable products
. Accelerating the release of carbon from fossil fuels
4.
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The term "carbon offset” refers to:

Options :

The amount of carbon dioxide released per capita
1. %

Reducing carbon emissions in one area to compensate for emissions in another
2. ¢

The carbon footprint of a specific activity
3. %

The total carbon emissions of a country
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Under the GRIHA (Green Rating for Integrated Habitat Assessment) rating norms, a
building securing 57 points on a 100-poimnt scale will be assigned with which of the
tollowing star ratings?

Options :

% Two star
Five star

2. %

Four star

Three star
4.
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Which disease 1s transmitted by the Aedes mosquito and 1s characterized by high fever.
severe headache and joint pain?

Options :
Arsenocosis
1. %
) % Goitre
Fluorosis
3. 0%
ole
4 Dengu
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The Chernobyl Disaster of 1986 was a catastrophic nuclear accident that oceurred in
which country?

Options :

Tapan

United States

2. %

3 Ukraine
_ Germany

4.
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When did National Disaster Management Authority formed?

Options :

| % 2000
2005

2.

;% 2010
2015

4. %
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The Lotka-Volterra model 1s used to describe:

Options :

Predator-prey interactions
l.¥



Sampling theory

2.

Central tendency
3, &

Skewness and lurtosis
4.%
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What does "kurtosis” measure in a probability distribution?

Options :

The degree of skewness

The spread of the distribution

2. %
3 The peakness or flatness of the distribution

The variability of the sample mean from the population mean
4, %
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What does an Environmental Management Plan (EMP) provide?
Options :

Guidelines for preparing an EIA
1. %

A summary of potential impacts

” Strategies to manage and mitigate the impacts of a project
3. -



. Budget estimation for the project
4.

Question Number : 140 Question Id : 51714412621 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
The "Kyoto Protocol” aim to achieve?
Options :
Promoting air travel

1. %

Reducing greenhouse gas emissions

Inecreasing industrial pollution
3. %

4 ® Encouraging deforestation
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What 1s the primary goal of e-waste management?

Options :

Promoting e-waste generation

Managing and controlling the disposal of electronic waste

Ignoring electronic waste

Encouraging illegal dumping of e-waste
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Nuclear energy 1s primarily generated through which process?

Options :

Nuclear fission
1.+

Nuclear fusion

Nuclear decay
3. %

4 % Nuclear transmutation
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Assertion (A): Photosynthesis 1s a vital process that supports life on Earth by
converting sunlight into energy-rich compounds.

Reason (R): Photosynthesis occurs only in plants and not in any other organisms.
Codes:

Options :

Both (A) and (R are true and (R) 1s the correct explanation of (A).
1. ®

Both (A) and (R) are true. but (R) 15 not the correct explanation of (A).
2. %

3@ (A) 1s true but (R) 1s false.

(A) 1s false but (R) 1s true.
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Assertion (A): Fossil fuels are considered non-renewable resources because they are
formed over millions of years and cannot be quickly replenished.

Reason (R): Fossil fuels are primarily composed of organic materials from recent plant
and animal remains.

Codes:

Options :

Both (A) and (R) are true and (R) is the correct explanation of (A).

1. ¢

Both (A) and (R) are true. but (R) 1s not the correct explanation of (A).
2.

(A) 1s true but (R) 1s false.
3. %

(A) 1s false but (R) 1s true.
4. %
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Match List — I with List — IT which contains environmental issues and their primary
causes:

List—1 List — I
(Environmental Issue) (Primary Causes)
a. Toxic chemicals: Pesticides 1. Industrial pollution
b. Biochemical aspects of heavy metals 1. Burning of fossil fuels
c. CO., O3. PAN. VOC and POP i11. Loss of tree cover
d. Carcinogens in the air iv. Release of CFCs
Identify the correct code:
Codes:
Options :

a-ii, b-1. c-1v, d-iii
1.

) % a-iii, b-1v, ¢.1, d-11

a-1, b-1i. c-1v. d-i11
3. %



a-1v, b-i11, c-11, d-1
4. %
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Arrange the following conservation movements in the order of their occurrence:

Options :

Gandhamardhan Movement >Chipko Movement >Appiko Movement > Silent
Valley Movement

1. ®

Appiko Movement  >Chipko Movement > Silent Valley Movement
. >Gandhamardhan Movement

2.
Silent Valley Movement =>Gandhamardhan Movement >Chipko Movement
>Appiko Movement

3. %
Chipko Movement  =Appiko Movement > Silent Valley Movement
>Gandhamardhan Movement

4. ¢
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Arrange the following analytical methods in the correct sequence of increasing
specificity and sensitivity:

Options :
L Paper Chromatography = TLC = GC = HPLC

» % HPLC >TLC > GC > Paper Chromatography

3 % TLC = Paper Chromatography >GC > HPLC



4% Paper Chromatography > HPLC > GC > TLC
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Which international agreement aims to regulate the trade 1 hazardous chemicals?
Options :

Montreal Protocol

Convention on Biological Diversity
2. %

Rotterdam Convention

Basel Convention

Question Number : 149 Question Id : 51714412630 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Match the following

A:Poliomyelitis 1. Bacteria
B: Malaria 2. Fung
C:Tuberculosis 3. Virus

D: Ring worm 4. Protozoan

Options :

A3.B4,C1.D2
1.¢

A4, B3, C2.D1

A4, B3, Cl,D2

A2, B4,C2, D1
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The term "cone of depression” refers to:

Options :

| % A geological fault

, w Atype of volcanic crater

A depression in the ocean floor

A localized lowermg of the water table due to pumping



